Central Tendency – Worksheet #1

1)
Bryant had the following point totals for January so far:
50, 32, 28, 37, 45, 19, 29, 32, 41, 32

Mean:

Median:

Mode:

Range:

2)
The temperature in Reading land for the last 11 days was:



40°, 44°, 54°, 46°, 30°, 32°, 38°, 34°, 35°, 32°, 35°

Mean:

Median:

Mode:

Range:

3)
The following are the number of students in Mr. Seidel’s classes:





19, 27, 29, 15, 22, 23, 25

Mean:

Median:

Mode:

Range:

The ABC company is having a meeting next week to talk about employee salaries.  The following chart outlines the members of the company and their current salary:

	Job Title
	Salary
	Number of

Employees
	Total Salaries

	President
	$156,250
	1
	$156,250

	Vice President
	$83,400
	1
	$83,400

	Treasurer
	$59,250
	1
	$59,250

	Human Resources
	$50,100
	1
	$50,100

	Laborer
	$32,000
	12
	$384,000

	Secretary
	$28,600
	2
	$57,200

	Custodian
	$22,400
	2
	$44,800

	Totals
	
	20
	$835,000


1)
Mean:


Median:


Mode:


Range:

2)
Why do you think the President of the company would use the mean to find the average salary for the employees of the ABC company?

3)
Why do you think a representative for the workers would NOT use the mean to find the average salary?
